# Peano's Counterexample to Harmony

### Leonardo Ceragioli

Università di Pisa e Firenze

July 18, 2019



UNIVERSITÀ DI PISA

Contact: leonardo.ceragioli@unifi.it



・ロト ・日 ・ ・ ヨ ・ ・

Leonardo Ceragioli (Università di Pisa e Firenze)

1 Harmony and Conservative Extension

- Pirst Counterexample and Stability
- 3 Truth Predicate and its Problems
- Peano's Counterexample

イロト イヨト イヨト イヨ

# Harmony and Conservative Extension

イロト イヨト イヨト イヨン

- Introduction rules are meaning conferring;
- Elimination rules are justified by introduction rules.

"The introductions represent, as it were, the 'definitions' of the symbols concerned, and the eliminations are no more, in the final analysis, than the consequences of these definitions. This fact may be expressed as follows: In eliminating a symbol, we may use the formula with whose terminal symbol we are dealing only 'in the sense afforded it by the introduction of that symbol'." (Gentzen, Investigation into Logical Deduction, 1934/35, 5.13)

- Introduction rules are meaning conferring;
- Elimination rules are justified by introduction rules.

"The introductions represent, as it were, the 'definitions' of the symbols concerned, and the eliminations are no more, in the final analysis, than the consequences of these definitions. This fact may be expressed as follows: In eliminating a symbol, we may use the formula with whose terminal symbol we are dealing only 'in the sense afforded it by the introduction of that symbol'." (Gentzen, Investigation into Logical Deduction, 1934/35, 5.13)

#### Introduction rules are meaning conferring;

• Elimination rules are justified by introduction rules.

"The introductions represent, as it were, the 'definitions' of the symbols concerned, and the eliminations are no more, in the final analysis, than the consequences of these definitions. This fact may be expressed as follows: In eliminating a symbol, we may use the formula with whose terminal symbol we are dealing only 'in the sense afforded it by the introduction of that symbol'." (Gentzen, Investigation into Logical Deduction, 1934/35, 5.13)

- Introduction rules are meaning conferring;
- Elimination rules are justified by introduction rules.

"The introductions represent, as it were, the 'definitions' of the symbols concerned, and the eliminations are no more, in the final analysis, than the consequences of these definitions. This fact may be expressed as follows: In eliminating a symbol, we may use the formula with whose terminal symbol we are dealing only 'in the sense afforded it by the introduction of that symbol'." (Gentzen, Investigation into Logical Deduction, 1934/35, 5.13)

- Introduction rules are meaning conferring;
- Elimination rules are justified by introduction rules.

"The introductions represent, as it were, the 'definitions' of the symbols concerned, and the eliminations are no more, in the final analysis, than the consequences of these definitions. This fact may be expressed as follows: In eliminating a symbol, we may use the formula with whose terminal symbol we are dealing only 'in the sense afforded it by the introduction of that symbol'." (Gentzen, Investigation into Logical Deduction, 1934/35, 5.13)

イロト イボト イヨト イヨト

Harmony: I-rules and E-rules are in harmony iff , when we have the major premise of an E-rule derived using an I-rule, then we can reduce the proof.

An E-rule is justified iff it is in harmony with an I-rule.

"Let  $\alpha$  be an application of an elimination rule that has B as consequence. Then, deductions that satisfy the sufficient condition [...] for deriving the major premiss of  $\alpha$ , when combined with deductions of the minor premisses of  $\alpha$  (if any), already "contain" a deduction of B; the deduction of B is thus obtainable directly from the given deductions without the addition of  $\alpha$ ." (Prawitz, Natural Deduction, 1965, p. 33)

## Harmony: I-rules and E-rules are in harmony iff , when we have the major premise of an E-rule derived using an I-rule, then we can reduce the proof.

An E-rule is justified iff it is in harmony with an I-rule.

"Let  $\alpha$  be an application of an elimination rule that has B as consequence. Then, deductions that satisfy the sufficient condition [...] for deriving the major premiss of  $\alpha$ , when combined with deductions of the minor premisses of  $\alpha$  (if any), already "contain" a deduction of B; the deduction of B is thus obtainable directly from the given deductions without the addition of  $\alpha$ ." (Prawitz, Natural Deduction, 1965, p. 33)

## Harmony: I-rules and E-rules are in harmony iff , when we have the major premise of an E-rule derived using an I-rule, then we can reduce the proof.

### An E-rule is justified iff it is in harmony with an I-rule.

"Let  $\alpha$  be an application of an elimination rule that has B as consequence. Then, deductions that satisfy the sufficient condition [...] for deriving the major premiss of  $\alpha$ , when combined with deductions of the minor premisses of  $\alpha$  (if any), already "contain" a deduction of B; the deduction of B is thus obtainable directly from the given deductions without the addition of  $\alpha$ ." (Prawitz, Natural Deduction, 1965, p. 33)

## Harmony: I-rules and E-rules are in harmony iff , when we have the major premise of an E-rule derived using an I-rule, then we can reduce the proof.

An E-rule is justified iff it is in harmony with an I-rule.

"Let  $\alpha$  be an application of an elimination rule that has B as consequence. Then, deductions that satisfy the sufficient condition [ $\cdots$ ] for deriving the major premiss of  $\alpha$ , when combined with deductions of the minor premisses of  $\alpha$  (if any), already "contain" a deduction of B; the deduction of B is thus obtainable directly from the given deductions without the addition of  $\alpha$ ." (Prawitz, Natural Deduction, 1965, p. 33)

イロト イポト イヨト イヨト

# Harmony of intuitionistic $\rightarrow$













<ロト <回ト < 三ト < 三ト



<ロト <回ト < 回ト < 回ト -



<ロト <回ト < 三ト < 三ト



<ロト <回ト < 三ト < 三ト



< = > < @ > < E > < E > < E</p>

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}'$ .

 $\mathfrak{S}'$  conservatively extends  $\mathfrak{S}$  iff<sub>def</sub>  $\Gamma \vdash_{\mathfrak{S}'} C$  and  $\Gamma, C \in \mathfrak{L}$  entail  $\Gamma \vdash_{\mathfrak{S}} C$ .

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\bullet~\mathfrak{S}'$  formulated in the language  $\mathfrak{L}';$
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}'$ .

 $\mathfrak{S}'$  conservatively extends  $\mathfrak{S}$  iff<sub>def</sub>  $\Gamma \vdash_{\mathfrak{S}'} C$  and  $\Gamma, C \in \mathfrak{L}$  entail  $\Gamma \vdash_{\mathfrak{S}} C$ .

イロト イヨト イヨト イヨ

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}'$ .

 $\mathfrak{S}'$  conservatively extends  $\mathfrak{S}$  iff<sub>def</sub>  $\Gamma \vdash_{\mathfrak{S}'} C$  and  $\Gamma, C \in \mathfrak{L}$  entail  $\Gamma \vdash_{\mathfrak{S}} C$ .

イロト イロト イヨト イヨ

$$I \wedge \frac{A \quad B}{A \wedge B} \qquad E \wedge \frac{A \wedge B}{A} \qquad E \wedge \frac{A \wedge B}{A} \qquad I \vee \frac{A}{A \vee B} \qquad I \vee \frac{B}{A \vee B}$$

$$\begin{bmatrix} A \end{bmatrix} \qquad \begin{bmatrix} A \end{bmatrix} \qquad \begin{bmatrix} B \end{bmatrix} \\ \vdots & \vdots \\ E \vee \frac{A \vee B \quad C \quad C}{C} \qquad \begin{bmatrix} A \end{bmatrix} \\ \vdots & E \supset \frac{A \supset B \quad A}{B} \qquad \begin{bmatrix} A \end{bmatrix} \qquad \begin{bmatrix} A \end{bmatrix} \qquad E \wedge \frac{\neg A \quad A}{\Box} \qquad Efq \ \frac{1}{C}$$

July 18, 2019 9 / 36

E 990

- I formulated in the language  $\land \lor \rightarrow \neg \bot$ ;
- $\{\oplus,\ldots,\otimes\} \subset \{\wedge \lor \to \neg \bot\};$
- $I^{\oplus,\dots,\otimes}$  is the fragment of I with only the rules for  $\oplus,\dots,\otimes$ .

Separability for 1: an intuitionistic theorem can be proved in 1 using only the rules for the connectives that occur in it.

- I formulated in the language  $\land \lor \rightarrow \neg \bot$ ;
- $\{\oplus,\ldots,\otimes\} \subset \{\land\lor \to \neg\bot\};$
- $I^{\oplus,\dots,\otimes}$  is the fragment of I with only the rules for  $\oplus,\dots,\otimes$ .

Separability for 1: an intuitionistic theorem can be proved in 1 using only the rules for the connectives that occur in it.

- I formulated in the language  $\land \lor \rightarrow \neg \bot$ ;
- $\{\oplus,\ldots,\otimes\} \subset \{\land\lor \to \neg\bot\};$
- $I^{\oplus,\dots,\otimes}$  is the fragment of I with only the rules for  $\oplus,\dots,\otimes$ .

Separability for 1: an intuitionistic theorem can be proved in 1 using only the rules for the connectives that occur in it.

- I formulated in the language  $\wedge \vee \to \neg \bot;$
- $\{\oplus,\ldots,\otimes\} \subset \{\land\lor \to \neg\bot\};$
- $I^{\oplus,\dots,\otimes}$  is the fragment of I with only the rules for  $\oplus,\dots,\otimes$ .

Separability for 1: an intuitionistic theorem can be proved in 1 using only the rules for the connectives that occur in it.

- I formulated in the language  $\wedge \vee \to \neg \bot;$
- $\{\oplus,\ldots,\otimes\} \subset \{\land\lor \to \neg\bot\};$
- $I^{\oplus,\dots,\otimes}$  is the fragment of I with only the rules for  $\oplus,\dots,\otimes$ .

Separability for I: an intuitionistic theorem can be proved in I using only the rules for the connectives that occur in it.

・ロト ・日ト ・モト・モー

イロト イタト イヨト イヨト 三日

- $\mathbf{C}^{\wedge \vee \rightarrow \perp}$  is identical to  $\mathbf{I}^{\wedge \vee \rightarrow \perp}$ ;
- $\bullet \ \vdash_{\mathbf{C}} ((A \to B) \to A) \to A \text{ but } \not\vdash_{\mathbf{I}} ((A \to B) \to A) \to A$

**Non-Conservativeness for C: C** non-conservatively extends  $C^{\wedge \vee \rightarrow \perp}$ .

**Non-Separability for C:**  $((A \rightarrow B) \rightarrow A) \rightarrow A$  can be proved in **C only using** the classical rules for **negation**.

< ロ > < 回 > < 回 > < 回 > < 回 >

- $C^{\wedge \vee \rightarrow \perp}$  is identical to  $I^{\wedge \vee \rightarrow \perp}$ ;
- $\bullet \ \vdash_{\mathbf{C}} ((A \to B) \to A) \to A \text{ but } \not\vdash_{\mathbf{I}} ((A \to B) \to A) \to A$

**Non-Conservativeness for C: C** non-conservatively extends  $C^{\wedge \vee \rightarrow \perp}$ .

**Non-Separability for C:**  $((A \rightarrow B) \rightarrow A) \rightarrow A$  can be proved in **C only using** the classical rules for **negation**.

< ロ > < 回 > < 回 > < 回 > < 回 >

- $C^{\wedge \vee \to \perp}$  is identical to  $I^{\wedge \vee \to \perp}$ ;
- $\bullet \ \vdash_{\mathbf{C}} ((A \to B) \to A) \to A \text{ but } \not\vdash_{\mathbf{I}} ((A \to B) \to A) \to A$

### Non-Conservativeness for C: C non-conservatively extends $C^{\wedge \vee \rightarrow \perp}$ .

**Non-Separability for C:**  $((A \rightarrow B) \rightarrow A) \rightarrow A$  can be proved in **C only using** the classical rules for **negation**.

< ロ > < 回 > < 回 > < 回 > < 回 >

•  $\mathbb{C}^{\wedge \vee \to \perp}$  is identical to  $\mathbb{I}^{\wedge \vee \to \perp}$ ; •  $\vdash_{\mathbb{C}} ((A \to B) \to A) \to A$  but  $\not\vdash_{\mathbb{I}} ((A \to B) \to A) \to A$ 

Non-Conservativeness for C: C non-conservatively extends  $C^{\wedge \vee \rightarrow \perp}$ .

Non-Separability for C:  $((A \rightarrow B) \rightarrow A) \rightarrow A$  can be proved in C only using the classical rules for negation.
- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

Conservativeness ⇒ Harmony: I<sup>×v¬⊥tonk</sup> is conservatively extended by the rules for implication, but neither of these systems is harmonious.

Harmony  $\Rightarrow$  Conservativeness???

- $\bullet~\mathfrak{S}$  formulated in the language  $\mathfrak{L};$
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

**Conjecture 2:**  $\mathfrak{S}'$  **conservatively extends**  $\mathfrak{S} \Rightarrow$  both  $\mathfrak{S}$  and  $\mathfrak{S}'$  can be characterised by **harmonious** sets of rules .

Conservativeness ⇒ Harmony: I<sup>×→⊥tonk</sup> is conservatively extended by the rules for implication, but neither of these systems is harmonious.

Harmony  $\Rightarrow$  Conservativeness???

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

### 

Conservativeness ⇒ Harmony: I^ v ¬⊥tonk is conservatively extended by the rules for implication, but neither of these systems is harmonious.

Harmony  $\Rightarrow$  Conservativeness???

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

### 

#### 

Conservativeness ⇒ Harmony: I<sup>×→⊥tonk</sup> is conservatively extended by the rules for implication, but neither of these systems is harmonious.

Harmony  $\Rightarrow$  Conservativeness???

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

### 

Conservativeness  $\Rightarrow$  Harmony:  $I^{\wedge \vee \neg \perp tonk}$  is conservatively extended by the rules for implication, but neither of these systems is harmonious.

Harmony  $\Rightarrow$  Conservativeness???

<ロト <回ト < 三ト < 三ト

- $\bullet~\mathfrak{S}$  formulated in the language  $\mathfrak{L};$
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

### 

Conservativeness  $\Rightarrow$  Harmony:  $I^{\wedge \vee \neg \perp tonk}$  is conservatively extended by the rules for implication, but neither of these systems is harmonious.

Harmony  $\Rightarrow$  Conservativeness???

イロト イボト イヨト イヨト

### First Counterexample and Stability

イロト イロト イヨト イヨ

 $\mathbf{Q} =_{def} \mathbf{I}$  with  $\lor$ -rules substituted by  $\sqcup$ -rules.

$$I \sqcup \frac{\Gamma \vdash A}{\Gamma \vdash A \sqcup B} \quad I \sqcup \frac{\Gamma \vdash B}{\Gamma \vdash A \sqcup B} \quad E \sqcup \frac{\Gamma \vdash A \sqcup B}{\Gamma \vdash C} \quad \frac{A \vdash C}{\Gamma \vdash C} \quad B \vdash C$$

 $\Box$ -rules,  $\wedge$ -rules and intuitionistic  $\rightarrow$ -rules are harmonious.

But 
$$A \land (B \sqcup C) \nvDash_{\mathbf{Q}^{\wedge \sqcup}} (A \land B) \sqcup (A \land C)$$
 and  
 $A \land (B \sqcup C) \vdash_{\mathbf{Q}^{\wedge \sqcup}} (A \land B) \sqcup (A \land C).$ 



**Q** =<sub>def</sub> **I** with  $\lor$ -rules substituted by  $\sqcup$ -rules.

$$I \sqcup \frac{\Gamma \vdash A}{\Gamma \vdash A \sqcup B} \quad I \sqcup \frac{\Gamma \vdash B}{\Gamma \vdash A \sqcup B} \quad E \sqcup \frac{\Gamma \vdash A \sqcup B}{\Gamma \vdash C} \quad \frac{A \vdash C}{\Gamma \vdash C} \quad B \vdash C$$

 $\Box$ -rules,  $\land$ -rules and intuitionistic  $\rightarrow$ -rules are harmonious.

But 
$$A \land (B \sqcup C) \nvDash_{\mathbf{Q}^{\wedge \sqcup}} (A \land B) \sqcup (A \land C)$$
 and  
 $A \land (B \sqcup C) \vdash_{\mathbf{Q}^{\wedge \sqcup}} (A \land B) \sqcup (A \land C).$ 



<ロト < 回ト < 三ト < 三ト</p>

 $\mathbf{Q} =_{def} \mathbf{I}$  with  $\lor$ -rules substituted by  $\sqcup$ -rules.  $I \sqcup \frac{\Gamma \vdash A}{\Gamma \vdash A \sqcup B} \quad I \sqcup \frac{\Gamma \vdash B}{\Gamma \vdash A \sqcup B} \quad E \sqcup \frac{\Gamma \vdash A \sqcup B}{\Gamma \vdash C} \quad A \vdash C \quad B \vdash C$ 

・ロト ・ 四ト ・ ヨト ・ ヨト

 $\mathbf{Q} =_{def} \mathbf{I}$  with  $\lor$ -rules substituted by  $\sqcup$ -rules.  $I \sqcup \frac{\Gamma \vdash A}{\Gamma \vdash A \sqcup B} \quad I \sqcup \frac{\Gamma \vdash B}{\Gamma \vdash A \sqcup B} \quad E \sqcup \frac{\Gamma \vdash A \sqcup B}{\Gamma \vdash C} \quad A \vdash C \quad B \vdash C$  $\Box$ -rules,  $\land$ -rules and intuitionistic  $\rightarrow$ -rules are harmonious.

<ロト <回ト < 注ト < 注ト -

 $\mathbf{Q} =_{def} \mathbf{I} \text{ with } \lor \text{-rules substituted by } \sqcup \text{-rules.}$   $I \sqcup \frac{\Gamma \vdash A}{\Gamma \vdash A \sqcup B} \quad I \sqcup \frac{\Gamma \vdash B}{\Gamma \vdash A \sqcup B} \quad E \sqcup \frac{\Gamma \vdash A \sqcup B}{\Gamma \vdash C} \quad \frac{A \vdash C}{\Gamma \vdash C}$   $\sqcup \text{-rules, } \land \text{-rules and intuitionistic} \rightarrow \text{-rules are harmonious.}$   $\text{But } A \land (B \sqcup C) \nvDash_{\mathbf{Q}^{\land \sqcup}} (A \land B) \sqcup (A \land C) \text{ and}$   $A \land (B \sqcup C) \vdash_{\mathbf{Q}^{\land \sqcup}} (A \land B) \sqcup (A \land C).$ 



<ロト <回ト < 注ト < 注ト -

 $\mathbf{Q} =_{def} \mathbf{I} \text{ with } \vee \text{-rules substituted by } \sqcup \text{-rules.}$   $I \sqcup \frac{\Gamma \vdash A}{\Gamma \vdash A \sqcup B} \quad I \sqcup \frac{\Gamma \vdash B}{\Gamma \vdash A \sqcup B} \quad E \sqcup \frac{\Gamma \vdash A \sqcup B}{\Gamma \vdash C} \quad \underline{A \vdash C} \quad \underline{B \vdash C}$   $\sqcup \text{-rules, } \wedge \text{-rules and intuitionistic} \rightarrow \text{-rules are harmonious.}$   $\text{But } A \land (B \sqcup C) \nvDash_{\mathbf{Q}^{\wedge \sqcup}} (A \land B) \sqcup (A \land C) \text{ and}$   $A \land (B \sqcup C) \vdash_{\mathbf{Q}^{\wedge \sqcup}} (A \land B) \sqcup (A \land C).$   $[A \land (B \sqcup C)]^{1} \qquad [A \land (B \sqcup C)]^{1}$ 

$$\frac{A \land (B \sqcup C)}{B \sqcup C} \xrightarrow[(A \land (B \sqcup C)]]{} \xrightarrow{A \land B} [B]^{2}} \xrightarrow[(A \land (B \sqcup C)]]{} \xrightarrow{A \land B} [C]^{2}} \xrightarrow[(A \land C]]{} \xrightarrow{A \land C} [A \land C]} \xrightarrow[(A \land (B \sqcup C))]{} \xrightarrow{A \land C} [A \land C]} \xrightarrow{A \land C} [A \land (B \sqcup C)]{} \xrightarrow{A \land C} [A \land B) \sqcup (A \land C)]} \xrightarrow{A \land (B \sqcup C)} \xrightarrow{A \land (B \sqcup C)} (A \land B) \sqcup (A \land C)]} \xrightarrow{A \land (B \sqcup C)} (A \land B) \sqcup (A \land C)]} \xrightarrow{A \land (B \sqcup C)} (A \land B) \sqcup (A \land C)}$$

ヘロト ヘロト ヘヨト ヘヨト

**Inverse harmony:** "Whatever follows from the direct grounds for deriving a proposition must follow from that proposition." (Negri & von Plato, *Structural Proof Theory*, 2001, p. 6.)

Inverse harmony (Lorenzen): if  $p_1 \Rightarrow p_0; \ldots; p_n \Rightarrow p_0$ , then  $[p_1 \Rightarrow p; \ldots; p_n \Rightarrow p] \Rightarrow (p_0 \Rightarrow p).$ 

Stability = Harmony + Inverse Harmony

< ロ ト < 回 ト < 三 ト < 三 ト</p>

# $\label{eq:stability: $$ $$ $$ I and $$ $$ are stable iff, they are in harmony and $$ $$ $$ E completely uses the meaning given to $$ $$ $$ $$ by $$ $$ $$ $$ I. $$$

**Inverse harmony:** "Whatever follows from the direct grounds for deriving a proposition must follow from that proposition." (Negri & von Plato, *Structural Proof Theory*, 2001, p. 6.)

Inverse harmony (Lorenzen): if  $p_1 \Rightarrow p_0; \ldots; p_n \Rightarrow p_0$ , then  $[p_1 \Rightarrow p; \ldots; p_n \Rightarrow p] \Rightarrow (p_0 \Rightarrow p).$ 

Stability = Harmony + Inverse Harmony

< ロ ト < 回 ト < 三 ト < 三 ト</p>

**Inverse harmony:** "Whatever follows from the direct grounds for deriving a proposition must follow from that proposition." (Negri & von Plato, *Structural Proof Theory*, 2001, p. 6.)

**Inverse harmony (Lorenzen):** if  $p_1 \Rightarrow p_0; \ldots; p_n \Rightarrow p_0$ , then  $[p_1 \Rightarrow p; \ldots; p_n \Rightarrow p] \Rightarrow (p_0 \Rightarrow p).$ 

Stability = Harmony + Inverse Harmony

イロト イロト イヨト イヨト

**Inverse harmony:** "Whatever follows from the direct grounds for deriving a proposition must follow from that proposition." (Negri & von Plato, *Structural Proof Theory*, 2001, p. 6.)

Inverse harmony (Lorenzen): if  $p_1 \Rightarrow p_0; \ldots; p_n \Rightarrow p_0$ , then  $[p_1 \Rightarrow p; \ldots; p_n \Rightarrow p] \Rightarrow (p_0 \Rightarrow p).$ 

Stability = Harmony + Inverse Harmony

・ロト ・ 四ト ・ ヨト ・ ヨト

**Inverse harmony:** "Whatever follows from the direct grounds for deriving a proposition must follow from that proposition." (Negri & von Plato, *Structural Proof Theory*, 2001, p. 6.)

Inverse harmony (Lorenzen): if  $p_1 \Rightarrow p_0; \ldots; p_n \Rightarrow p_0$ , then  $[p_1 \Rightarrow p; \ldots; p_n \Rightarrow p] \Rightarrow (p_0 \Rightarrow p).$ 

Stability = Harmony + Inverse Harmony

・ロト ・ 四ト ・ ヨト ・ ヨト



<ロト < 回ト < 三ト < 三ト</p>



<ロト <回ト < 三ト < 三ト -



<ロト <回ト < 注ト < 注ト -



<ロト < 回ト < 三ト < 三ト</p>

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

**Conjecture 1':** if  $\mathfrak{S}$  is formulated using **stable rules**, and  $\mathfrak{S}'$  is obtained adding to  $\mathfrak{S}$  only **harmonious rules**, then  $\mathfrak{S}'$  is a conservative extension of  $\mathfrak{S}$ .(Dummett, *The Logical Basis of Metaphysics*, 1991, p. 290)

 $\mathfrak{S}$  stable +  $\mathfrak{S}'$  harmonious  $\Rightarrow \mathfrak{S}'$  is a conservative extension of  $\mathfrak{S}$ .

< ロ ト < 回 ト < 三 ト < 三 ト</p>

- $\mathfrak{S}$  formulated in the language  $\mathfrak{L}$ ;
- $\bullet~\mathfrak{S}'$  formulated in the language  $\mathfrak{L}';$
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

**Conjecture 1':** if  $\mathfrak{S}$  is formulated using **stable rules**, and  $\mathfrak{S}'$  is obtained adding to  $\mathfrak{S}$  only **harmonious rules**, then  $\mathfrak{S}'$  is a conservative extension of  $\mathfrak{S}$ .(Dummett, *The Logical Basis of Metaphysics*, 1991, p. 290)

 $\mathfrak{S}$  stable +  $\mathfrak{S}'$  harmonious  $\Rightarrow \mathfrak{S}'$  is a conservative extension of  $\mathfrak{S}$ .

イロト イロト イヨト イヨト

- $\bullet~\mathfrak{S}$  formulated in the language  $\mathfrak{L};$
- $\mathfrak{S}'$  formulated in the language  $\mathfrak{L}'$ ;
- $\mathfrak{L} \subset \mathfrak{L}'$ ;
- $\mathfrak{S} \subset \mathfrak{S}';$

**Conjecture 1':** if  $\mathfrak{S}$  is formulated using **stable rules**, and  $\mathfrak{S}'$  is obtained adding to  $\mathfrak{S}$  only **harmonious rules**, then  $\mathfrak{S}'$  is a conservative extension of  $\mathfrak{S}$ .(Dummett, *The Logical Basis of Metaphysics*, 1991, p. 290)

 $\mathfrak{S} \text{ stable } + \mathfrak{S}' \text{ harmonious } \Rightarrow \mathfrak{S}' \text{ is a conservative extension of } \mathfrak{S}.$ 

イロト イポト イヨト イヨト

### Truth Predicate and its Problems

イロト イヨト イヨト イヨン

$$\mathscr{T} \vdash \frac{A}{\mathscr{T}(\ulcornerA)} = \mathscr{T} \vdash \frac{\mathscr{T}(\ulcornerA)}{A}$$

 $\vdash_{\mathbf{PA}+\mathscr{T}}\mathscr{G}_{PA}$ 

but

 $\not\vdash_{\mathbf{PA}} \mathscr{G}_{PA}$ 

< ロ ト < 回 ト < 三 ト < 三 ト</p>

$$\mathscr{T} \operatorname{I} \frac{A}{\mathscr{T}(\mathsf{I}A^{\mathsf{I}})} \quad \mathscr{T} \operatorname{E} \frac{\mathscr{T}(\mathsf{I}A^{\mathsf{I}})}{A}$$

 $\vdash_{\mathbf{PA}+\mathscr{T}} \mathscr{G}_{PA}$ 

but

 $\not\vdash_{\mathbf{PA}} \mathscr{G}_{PA}$ 

< ロ ト < 回 ト < 三 ト < 三 ト</p>

$$\mathscr{T} \operatorname{I} \frac{A}{\mathscr{T}(\mathsf{r} A^{\mathsf{i}})} \quad \mathscr{T} \operatorname{E} \frac{\mathscr{T}(\mathsf{r} A^{\mathsf{i}})}{A}$$

 $\vdash_{\mathbf{PA}+\mathscr{T}}\mathscr{G}_{PA}$ 

but

 $\not\vdash_{\mathbf{PA}} \mathscr{G}_{PA}$ 

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

$$\mathscr{T} \operatorname{I} \frac{A}{\mathscr{T}(\mathsf{r} A^{\mathsf{i}})} \quad \mathscr{T} \operatorname{E} \frac{\mathscr{T}(\mathsf{r} A^{\mathsf{i}})}{A}$$

 $\vdash_{\mathbf{PA}+\mathscr{T}}\mathscr{G}_{PA}$ 

but

 $\not\vdash_{\mathbf{PA}} \mathscr{G}_{PA}.$ 

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

 $\mathcal{T}$ -rules are harmonious and stable, but what about **PA**?

The extension is conservative if we do not allow  ${\mathscr T}$  to occur in **induction schema**.

Extra: What lesson should we learn? We want harmony or conservativeness?

< ロ ト < 回 ト < 三 ト < 三</p>

 $\mathcal{T}$ -rules are harmonious and stable, but what about **PA**?

The extension is conservative if we do not allow  ${\mathscr T}$  to occur in **induction schema**.

Extra: What lesson should we learn? We want harmony or conservativeness?

イロト イヨト イヨト イヨ

#### $\mathscr{T}$ -rules are harmonious and stable, but what about PA?

The extension is conservative if we do not allow  ${\mathscr T}$  to occur in **induction schema**.

Extra: What lesson should we learn? We want harmony or conservativeness?

イロト イヨト イヨト イヨ

 $\mathscr{T}$ -rules are harmonious and stable, but what about PA?

#### The extension is conservative if we do not allow ${\mathscr T}$ to occur in induction schema.

Extra: What lesson should we learn? We want harmony or conservativeness?

< ロ ト < 回 ト < 三 ト < 三 ト</p>

 $\mathscr{T}$ -rules are harmonious and stable, but what about **PA**?

The extension is conservative if we do not allow  ${\mathscr T}$  to occur in **induction schema**.

Extra: What lesson should we learn? We want harmony or conservativeness?

< ロ ト < 回 ト < 三 ト < 三 ト</p>

### Peano's Counterexample

イロト イヨト イヨト イヨン
$$1 \frac{(a+c)/(b+d) = e/f}{(a/b)?(c/d) = e/f} \quad ?E \frac{(a/b)?(c/d) = e/f}{(a+c)/(b+d) = e/f}$$
  
Sub. of Id. 
$$\frac{?I \frac{(1+1)/(2+3) = 2/5}{(1/2)?(1/3) = 2/5}}{?E \frac{(2/4)?(1/3) = 2/5}{(2+1)/(4+3) = 2/5}}$$
  
Add. 
$$\frac{?I \frac{(2/4)?(1/3) = 2/5}{(2+1)/(4+3) = 2/5}}{3/7 = 2/5}$$

 $1 \frac{(a+c)/(b+d) = e/f}{(a/b)?(c/d) = e/f} \quad ? \in \frac{(a/b)?(c/d) = e/f}{(a+c)/(b+d) = e/f}$  $\frac{?! \frac{(1+1)/(2+3) = 2/5}{(1/2)?(1/3) = 2/5} \frac{1/2 = 2/4}{1/2 = 2/4}$ Sub. of Id.

$$\begin{array}{c} (1/2)?(1/3) = 2/5 \\ 1/2 = 2/4 \\ \hline \\ (1/2)?(1/3) = 2/5 \\ \hline \\ (2/4)?(1/3) = 2/5 \\ \hline \\ (2+1)/(4+3) = 2/5 \\ \hline \\ \\ Add. \\ \hline \\ \hline \\ 3/7 = 2/5 \end{array}$$

$$\operatorname{PL} \frac{(a+c)/(b+d) = e/f}{(a/b)?(c/d) = e/f} \quad \operatorname{PL} \frac{(a/b)?(c/d) = e/f}{(a+c)/(b+d) = e/f}$$

$$\operatorname{PL} \frac{(1+1)/(2+3) = 2/5}{(1/2)?(1/3) = 2/5} \quad 1/2 = 2/4$$
Sub. of Id. 
$$\frac{(1+1)/(2+3) = 2/5}{\operatorname{PL} \frac{(2/4)?(1/3) = 2/5}{(2+1)/(4+3) = 2/5}}$$
Add. 
$$\frac{(2/4)?(1/3) = 2/5}{3/7 = 2/5}$$

$$\begin{array}{l} ?! \ \ \ \frac{(a+c)/(b+d) = e/f}{(a/b)?(c/d) = e/f} \\ ?! \ \ \frac{(a/b)?(c/d) = e/f}{(a/b)?(c/d) = e/f} \\ \\ Sub. \ of \ Id. \ \ \frac{(1+1)/(2+3) = 2/5}{(1/2)?(1/3) = 2/5} \\ Sub. \ of \ Id. \ \ \frac{(1+1)/(2+3) = 2/5}{(2/4)?(1/3) = 2/5} \\ \\ \hline \\ Add. \ \ \frac{(2/4)?(1/3) = 2/5}{3/7 = 2/5} \end{array}$$

**Stability:** E? is in harmony with I? and it is obviously the strongest such rule.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

**Stability:** E? is in harmony with I? and it is obviously the strongest such rule.

・ロト ・四ト ・ヨト ・ヨ

Stability: E? is in harmony with I? and it is obviously the strongest such rule.





$$[(a+c)/(b+d) = e/f]$$

$$\vdots$$

$$?E \frac{(a/b)?(c/d) = e/f}{C}$$

$$\vdots$$

$$[(a+c)/(b+d) = e/f]$$

$$\vdots$$

$$(a+c)/(b+d) = e/f]$$

$$\vdots$$

$$(a+c)/(b+d) = e/f$$

$$\vdots$$

$$(a+c)/(b+d) = e/f$$

$$\vdots$$

$$C$$

#### Starting system: can we non-conservatively extend a stable system with '?'?

Which lesson: can we conclude something about acceptability or not of one of the two principles?

#### Starting system: can we non-conservatively extend a stable system with '?'?

Which lesson: can we conclude something about acceptability or not of one of the two principles?

Starting system: can we non-conservatively extend a stable system with '?'?

Which lesson: can we conclude something about acceptability or not of one of the two principles?

## The starting system: Baby Arithmetic

Minimal logic

$$sI \frac{m=n}{\mathfrak{s}(m)=\mathfrak{s}(n)} \quad sE \frac{\mathfrak{s}(m)=\mathfrak{s}(n)}{m=n} \qquad \botI \frac{\mathfrak{s}(n)=0}{\bot} \qquad \botE \frac{\bot}{\mathfrak{s}(n)=0}$$

$$+0I \frac{m=n}{m+0=n} \quad +0E \frac{m+0=n}{m=n} \quad +1 \frac{\mathfrak{s}(m+n)=l}{m+\mathfrak{s}(n)=l} \qquad +E \frac{m+\mathfrak{s}(n)=l}{\mathfrak{s}(m+n)=l}$$

$$\times 0I \frac{0=n}{m\times 0=n} \quad \times 0E \frac{m\times 0=n}{0=n} \quad \times I \frac{(m\times n)+m=l}{m\times \mathfrak{s}(n)=l} \qquad \times E \frac{m\times \mathfrak{s}(n)=l}{(m\times n)+m=l}$$

$$[F(a)] \qquad \vdots \qquad =E \frac{a=b}{A(b)} \qquad A(b)$$

**Restrictions on** =**1**: *F* has to be a fully general *predicative variable* which does not occur in other open assumptions.

**Note:** =E enables the substitution of any number of occurrences of a in A(a)

July 18, 2019 27 / 36

### Minimal logic

$$sI \frac{m=n}{\mathfrak{s}(m)=\mathfrak{s}(n)} \quad sE \frac{\mathfrak{s}(m)=\mathfrak{s}(n)}{m=n} \qquad \botI \frac{\mathfrak{s}(n)=0}{\bot} \qquad \botE \frac{\bot}{\mathfrak{s}(n)=0}$$

$$+0I \frac{m=n}{m+0=n} \quad +0E \frac{m+0=n}{m=n} \quad +1 \frac{\mathfrak{s}(m+n)=l}{m+\mathfrak{s}(n)=l} \qquad +E \frac{m+\mathfrak{s}(n)=l}{\mathfrak{s}(m+n)=l}$$

$$\times 0I \frac{0=n}{m\times 0=n} \quad \times 0E \frac{m\times 0=n}{0=n} \quad \times I \frac{(m\times n)+m=l}{m\times \mathfrak{s}(n)=l} \qquad \times E \frac{m\times \mathfrak{s}(n)=l}{(m\times n)+m=l}$$

$$[F(a)] \qquad \vdots \qquad =E \frac{a=b}{A(b)} \qquad A(b)$$

**Restrictions on** =**I**: *F* has to be a fully general *predicative variable* which does not occur in other open assumptions.

**Note:** =E enables the substitution of any number of occurrences of a in A(a)

#### Minimal logic

$$\begin{split} \mathfrak{sl} \frac{m=n}{\mathfrak{s}(m)=\mathfrak{s}(n)} & \mathfrak{sE} \frac{\mathfrak{s}(m)=\mathfrak{s}(n)}{m=n} & \perp \mathsf{I} \frac{\mathfrak{s}(n)=0}{\perp} & \perp \mathsf{E} \frac{\perp}{\mathfrak{s}(n)=0} \\ +\mathfrak{ol} \frac{m=n}{m+0=n} & +\mathfrak{oE} \frac{m+0=n}{m=n} & +\mathfrak{l} \frac{\mathfrak{s}(m+n)=l}{m+\mathfrak{s}(n)=l} & +\mathfrak{E} \frac{m+\mathfrak{s}(n)=l}{\mathfrak{s}(m+n)=l} \\ \times \mathfrak{ol} \frac{0=n}{m\times 0=n} & \times \mathfrak{oE} \frac{m\times 0=n}{0=n} & \times \mathfrak{l} \frac{(m\times n)+m=l}{m\times \mathfrak{s}(n)=l} & \times \mathfrak{E} \frac{m\times \mathfrak{s}(n)=l}{(m\times n)+m=l} \\ & [F(a)] \\ \vdots & =\mathfrak{E} \frac{a=b}{A(b)} \\ \end{split}$$

**Restrictions on** =**I**: *F* has to be a fully general *predicative variable* which does not occur in other open assumptions.

**Note:** =E enables the substitution of any number of occurrences of a in A(a)

### Minimal logic

$$\mathfrak{sl} \frac{m=n}{\mathfrak{s}(m) = \mathfrak{s}(n)} \quad \mathfrak{sE} \frac{\mathfrak{s}(m) = \mathfrak{s}(n)}{m=n} \qquad \bot \mathfrak{l} \frac{\mathfrak{s}(n) = 0}{\bot} \qquad \bot \mathfrak{E} \frac{\bot}{\mathfrak{s}(n) = 0}$$

$$+ \mathfrak{ol} \frac{m=n}{m+0=n} \quad +\mathfrak{oE} \frac{m+0=n}{m=n} \quad +\mathfrak{l} \frac{\mathfrak{s}(m+n) = l}{m+\mathfrak{s}(n) = l} \qquad +\mathfrak{E} \frac{m+\mathfrak{s}(n) = l}{\mathfrak{s}(m+n) = l}$$

$$\times \mathfrak{ol} \frac{0=n}{m\times0=n} \quad \times \mathfrak{oE} \frac{m\times0=n}{0=n} \quad \times \mathfrak{l} \frac{(m\times n) + m = l}{m\times\mathfrak{s}(n) = l} \qquad \times \mathfrak{E} \frac{m\times\mathfrak{s}(n) = l}{(m\times n) + m = l}$$

$$[F(a)] \qquad \vdots \qquad =\mathfrak{E} \frac{a=b}{A(b)}$$

**Restrictions on** =**I**: *F* has to be a fully general *predicative variable* which does not occur in other open assumptions.

**Note:** =E enables the substitution of any number of occurrences of a in A(a)



< □ ト < □ ト < 三 ト < 三 ト</p>









Note:  $\vdots_{\Phi_1}$  is the direct ground for a = b, and indeed it is not used in the second F(b) proof tree.



proof tree.



proof tree.





F(a)

Note:  $\vdots_{\Phi_1}$  is the direct ground for a = b, and indeed it is not used in the second F(b) proof tree.

< □ ト < □ ト < 三 ト < 三 ト</p>

|  |  | Rules   |  |
|--|--|---------|--|
|  |  |         |  |
|  |  | Harmony |  |
|  |  |         |  |
|  |  |         |  |

크

|  |   |  | Rules                       |                             |  |
|--|---|--|-----------------------------|-----------------------------|--|
| $[A_1(a)]$ $\vdots \Phi_1$ $= l\infty  \underline{A_1(b)}$ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b)$ $a = b$ |  | $=E_1 \ \frac{a=b}{A_1(b)}$ | $=E_2 \ \frac{a=b}{A_2(b)}$ |  |
|  |   |  | Harmony                     |                             |  |
|  |   |  |                             |                             |  |
|  |   |  |                             |                             |  |

|   | Rules                                       |  |                             |                             |  |  |  |
|---|---|--|-----------------------------|-----------------------------|--|--|--|
| $\begin{bmatrix} A_1(a) \end{bmatrix}$ $\vdots \Phi_1$ $= 1\infty \qquad $ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b)$ $a = b$ |  | $=E_1 \ \frac{a=b}{A_1(a)}$ | $=E_2 \ \frac{a=b}{A_2(a)}$ |  |  |  |

| _ | - |   |   |    |   |   |  |
|---|---|---|---|----|---|---|--|
|   | d | r | п | IU | л | v |  |
|   |   |   |   |    |   |   |  |



|   |   | Rules                           |                             |  |
|---|---|---------------------------------|-----------------------------|--|
| $\begin{bmatrix} A_1(a) \end{bmatrix}$ $\vdots \Phi_1$ $= 1\infty \qquad $ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b)$ $a = b$ | <br>$=E_1 \ \frac{a=b}{A_1(a)}$ | $=E_2 \ \frac{a=b}{A_2(a)}$ |  |

|            |            |          |          | Harmony |  |
|------------|------------|----------|----------|---------|--|
| $[A_1(a)]$ | $[A_2(a)]$ |          |          |         |  |
| $\Phi_1$   | $\Phi_1$   |          |          |         |  |
| $A_1(b)$   | $A_2(b)$   |          |          |         |  |
| =100       | a = b      |          | $A_i(a)$ |         |  |
|            | 1          | $A_i(b)$ |          |         |  |

|   |   | Rules                           |                             |  |
|---|---|---------------------------------|-----------------------------|--|
| $\begin{bmatrix} A_1(a) \end{bmatrix}$ $\vdots \Phi_1$ $= 1\infty \qquad $ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b)$ $a = b$ | <br>$=E_1 \ \frac{a=b}{A_1(a)}$ | $=E_2 \ \frac{a=b}{A_2(a)}$ |  |

Harmony

|                     |            |       |          | riannony |  |
|---------------------|------------|-------|----------|----------|--|
| $[A_1(a)]$          | $[A_2(a)]$ |       |          |          |  |
| $\Phi_1$            | $\Phi_1$   |       |          |          |  |
| $-1\infty$ $A_1(b)$ | $A_2(b)$   |       |          | ~~~~     |  |
| =100<br>=E          | a = b      | 4 (1) | $A_i(a)$ |          |  |

 $A_i(b)$ 

2

|   | Rules                                       |  |                             |                             |  |  |  |
|---|---|--|-----------------------------|-----------------------------|--|--|--|
| $\begin{bmatrix} A_1(a) \end{bmatrix}$ $\vdots \Phi_1$ $= 1\infty \qquad $ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b)$ $a = b$ |  | $=E_1 \ \frac{a=b}{A_1(a)}$ | $=E_2 \ \frac{a=b}{A_2(a)}$ |  |  |  |

Harmony

|      | $[A_1(a)]$ | $[A_2(a)]$ |          |          |      |            |
|------|------------|------------|----------|----------|------|------------|
|      | $\Phi_1$   | $\Phi_1$   |          |          |      | $[A_i(a)]$ |
| =100 | $A_1(b)$   | $A_2(b)$   |          |          | ~~~> | $\Phi_1$   |
| -100 | =E         | a = b      |          | $A_i(a)$ |      | $A_i(b)$   |
|      |            |            | $A_i(b)$ |          |      |            |

|      |  | Rules        |      |  |
|------|--|--------------|------|--|
|      |  |              |      |  |
|      |  | Inverse Harn | nony |  |
|      |  |              |      |  |
| Note |  |              |      |  |

|  |  | Rules                       |   |  |
|--|--|-----------------------------|---|--|
| $[A_1(a)] = I\infty \frac{A_1(b)}{A_1(b)}$ | $\begin{bmatrix} A_2(a) \end{bmatrix}$<br>$\vdots \Phi_1$<br>$A_2(b) \qquad \cdots$<br>a = b | $=E_1 \ \frac{a=b}{A_1(b)}$ | $=E_2 \ \frac{a=b}{A_2(a)} \frac{A_2(a)}{A_2(b)}$ |  |
|  |  | Inverse Harm                | iony  |  |
|  |  |                             |   |  |
| Not  |  |                             |   |  |

| Rules  |  |   |                              |  |  |  |  |  |
|--|--|---|------------------------------|--|--|--|--|--|
| $[A_1(a)]$ $\vdots \Phi_1$ $= 1 \infty \frac{A_1(b)}{a}$ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b) \cdots$ $a = b$ | $=E_1 \cdot \frac{a=b}{A_1(a)} \cdot \frac{A_1(a)}{A_1(b)}$ | $=E_2 \ \frac{a=b}{A_2(a)} $ |  |  |  |  |  |
| Inverse Harmony  |  |   |                              |  |  |  |  |  |
|  |  |   |                              |  |  |  |  |  |
| Note   |  |   |                              |  |  |  |  |  |

2

|   |  |      | Rules   |                              |  |  |  |  |
|---|--|------|---|------------------------------|--|--|--|--|
| $\begin{bmatrix} A_1(a) \end{bmatrix}$ $\vdots \Phi_1$ $= I\infty  \frac{A_1(b)}{}$ | $[A_2(a)]$ $\vdots \Phi_1$ $A_2(b)$ $a = b$  |      | $=E_1 \frac{a=b}{A_1(a)} \frac{A_1(a)}{A_1(b)}$ | $=E_2 \ \frac{a=b}{A_2(b)} $ |  |  |  |  |
| Inverse Harmony   |  |      |   |                              |  |  |  |  |
| $egin{array}{c} A_1(a) \ dots \Phi_1 \ A_1(b) \end{array}$                          | $\begin{array}{c} A_2(a) \\ \vdots \Phi_2 \\ A_2(b) \\ \vdots \Psi \\ C \end{array}$ | •• Г |   |                              |  |  |  |  |
| Note  |  |      |   |                              |  |  |  |  |
# Infinitary Version: Stability

| Rules   |  |                                 |                              |  |  |  |  |  |
|---|--|---------------------------------|------------------------------|--|--|--|--|--|
| $\begin{bmatrix} A_1(a) \end{bmatrix}$ $\stackrel{\vdots \Phi_1}{=} \mathbf{I} \infty \xrightarrow{A_1(b)}$ | $\begin{bmatrix} A_2(a) \end{bmatrix}$<br>$\vdots \Phi_1$<br>$A_2(b) \qquad \cdots$<br>a = b           | $=E_1 \cdot \frac{a=b}{A_1(b)}$ | $=E_2 \ \frac{a=b}{A_2(a)} $ |  |  |  |  |  |
| Inverse Harmony   |  |                                 |                              |  |  |  |  |  |
| $\begin{array}{c} A_1(a) \\ \vdots \\ \Phi_1 \\ A_1(b) \end{array}$   | $\begin{array}{c} A_2(a) \\ \vdots \Phi_2 \\ A_2(b) & \cdots & \Gamma \\ \vdots \Psi \\ C \end{array}$ |                                 |                              |  |  |  |  |  |
| Note:   |  |                                 |                              |  |  |  |  |  |

# Infinitary Version: Stability

| Rules  |  |   |                                 |   |  |  |  |  |
|--|--|---|---------------------------------|---|--|--|--|--|
| $[A_1(a)]$<br>$\vdots \Phi_1$<br>$= l\infty  \underline{A_1(b)}$ | $[A_2(a)]$<br>$\vdots \Phi_1$<br>$A_2(b)$<br>a = b                                   |   | $=E_1 \cdot \frac{a=b}{A_1(a)}$ | $= E_2 \frac{a=b}{A_2(a)} \frac{A_2(a)}{A_2(b)}$      |  |  |  |  |
| Inverse Harmony  |  |   |                                 |   |  |  |  |  |
| $egin{array}{c} A_1(a) \ dots \Phi_1 \ A_1(b) \end{array}$       | $\begin{array}{c} A_2(a) \\ \vdots \Phi_2 \\ A_2(b) \\ \vdots \Psi \\ C \end{array}$ | Г | ~~~                             | $=E \; \frac{a=b  A_1(a)}{A_1(b)}  =E \; \frac{a}{a}$ | $\frac{a = b \qquad A_2(a)}{A_2(b)} \qquad \cdots \qquad \Gamma$<br>$\vdots \Psi \qquad C$ |  |  |  |
| Note   |  |   |                                 |   |  |  |  |  |

2

# Infinitary Version: Stability

| Rules  |  |                                   |  |  |  |  |  |
|--|--|-----------------------------------|--|--|--|--|--|
| $[A_1(a)]$ $\vdots \Phi_1$ $= 1 \infty \frac{A_1(b)}{a}$   | $\begin{bmatrix} A_2(a) \end{bmatrix}$<br>$\vdots \Phi_1$<br>$A_2(b) \qquad \cdots$<br>a = b | $=E_1 \ \frac{a=b}{A_1(b)}$       | $=E_2 \ \frac{a=b}{A_2(a)}$  |  |  |  |  |
| Inverse Harmony  |  |                                   |  |  |  |  |  |
| $egin{array}{c} A_1(a) \ dots \Phi_1 \ A_1(b) \end{array}$ | $\begin{array}{c} A_2(a) \\ \vdots \Phi_2 \\ A_2(b) \\ \vdots \Psi \\ C \end{array}$         |                                   | $=E \ \frac{a=b}{A_1(a)} =E \ \frac{a}{A_1(b)} =E$ | $ \begin{array}{c} = b & A_2(a) \\ \hline A_2(b) & \cdots & \Gamma \\ \vdots \Psi \\ C \end{array} $ |  |  |  |
| Note   | $A_i(a)$<br>:: $	ext{:} \Phi_i$ are the dir $A_i(b)$   | ect grounds for $a = b$ , and ind | deed they are not used in the secc   | and proof tree.  |  |  |  |

2

$$\div I \frac{n \times s = l \times m}{n/m = l/s} \quad \div E \frac{n/m = l/s}{n \times s = l \times m}$$
Note:  $a/b + c/d = e/f$  is not well formed in BA

$$\begin{array}{l} \div I \frac{n \times s = l \times m}{n/m = l/s} \quad \div E \frac{n/m = l/s}{n \times s = l \times m} \\ \\ \textbf{lote:} \quad a/b + c/d = e/f \text{ is not well formed in BA.} \end{array}$$

< ロ > < 回 > < 注 > < 注 >

$$\begin{array}{l} \div {\rm I} & \frac{n \times s = l \times m}{n/m = l/s} & \div {\rm E} & \frac{n/m = l/s}{n \times s = l \times m} \end{array} \\ \\ {\rm Note:} & a/b + c/d = e/f \text{ is not well formed in BA}. \end{array}$$

< ロ > < 回 > < 注 > < 注 >

$$\begin{array}{l} \div \mathsf{I} & \frac{n \times s = l \times m}{n/m = l/s} & \div \mathsf{E} & \frac{n/m = l/s}{n \times s = l \times m} \\ \end{array}$$
Note:  $a/b + c/d = e/f$  is not well formed in BA.

▲□▶ ▲圖▶ ▲臣▶ ▲臣▶

$$\begin{array}{c} & \begin{bmatrix} F((1+1)/(2+3)) \end{bmatrix}^1 \\ \vdots & \begin{bmatrix} F((1+1)/(2+3) & = (1+1)/(2+3) \\ (1/2) = 2/4 \end{bmatrix} \\ \hline 1/2 = 2/4 \end{bmatrix} \xrightarrow{17} \frac{(1/2)?(1/3) = (1+1)/(2+3)}{(1/2)?(1/3) = (1+1)/(2+3)} = \mathbb{E} \\ & = \mathbb{E} \frac{(2/4)?(1/3) = (1+1)/(2+3)}{(2+1)/(4+3) = 2/(2+3)} = \mathbb{E} \\ & = \mathbb{E} \frac{(2+1)/(4+3) = 2/(2+3)}{(2+1)/(4+3) = 2/5} \xrightarrow{2+3=5} \\ & = \mathbb{E} \frac{(2+1)/(4+3) = 2/(2+3)}{(2+1)/(4+3) = 2/5} \xrightarrow{2+1=3} \\ & = \mathbb{E} \frac{(2+1)/(4+3) = 2/5}{(2+1)/(4+3) = 2/5} \xrightarrow{4+3=7} \\ & = \mathbb{E} \frac{(3/7) = 2/5}{(3\times5) = 2\times7} \\ & = \mathbb{E} \frac{(3/7) = 2/5}{(3\times5) = 2\times7} \\ & = \mathbb{E} \frac{(2+1)/(4+3) = 2/5}{(1+1)/(2+3)} \xrightarrow{1} \mathbb{E} \frac{(2+1)/(4+3) = 2/5}{(2+1)/(4+3) = 2/5} \xrightarrow{1} \mathbb{E} \frac{(2+1)/(4+3) = 2/5}{(3\times5) = 2\times7} \xrightarrow{1} \mathbb{E} \frac{(2+1)/(4$$

イロト イロト イヨト イヨト

$$\begin{array}{c} \vdots & \begin{bmatrix} F((1+1)/(2+3)) \end{bmatrix}^1 \\ \vdots & \begin{bmatrix} F((1+1)/(2+3) = (1+1)/(2+3) \\ \hline (1/2)^2(1/3) = (1+1)/(2+3) \\ \hline (2/4)^2(1/3) = (1+1)/(2+3) \\ \hline = E & \frac{(2/4)^2(1/3) = (1+1)/(2+3)}{(2+1)/(4+3) = 2/(2+3)} = E \\ \vdots \\ = E & \frac{(2+1)/(4+3) = 2/(2+3)}{(2+1)/(4+3) = 2/(2+3)} & 2+3=5 \\ \hline = E & \frac{(2+1)/(4+3) = 2/5}{(2+1)/(4+3) = 2/5} & 2+1=3 \\ \hline = E & \frac{3/(4+3) = 2/5}{(3\times5) = 2\times7} \\ \hline = E & \frac{3/7 = 2/5}{(3\times5) = 2\times7} \\ \hline = E & \frac{3/7 = 2/5}{(3\times5) = 2\times7} \\ \hline \end{bmatrix}$$

イロト イロト イヨト イヨト

- BA is stable;
- **BA+'?'** is stable, so harmonious;
- $\nvdash_{\mathbf{BA}} \perp$ , but  $\vdash_{\mathbf{BA}+'?'} \perp$ .

We should reject stability and harmony as complete *criteria* for correctness, since '?' is clearly unacceptable!

- BA is stable;
- BA+'?' is stable, so harmonious;
- $\nvdash_{\mathbf{BA}} \perp$ , but  $\vdash_{\mathbf{BA}+'?'} \perp$ .

We should reject stability and harmony as complete *criteria* for correctness, since '?' is clearly unacceptable!

#### • BA is stable;

- BA+'?' is stable, so harmonious;
- $\nvdash_{\mathbf{BA}} \perp$ , but  $\vdash_{\mathbf{BA}+'?'} \perp$ .

We should reject stability and harmony as complete *criteria* for correctness, since '?' is clearly unacceptable!

- BA is stable;
- BA+'?' is stable, so harmonious;
- $\nvdash_{\mathbf{BA}} \perp$ , but  $\vdash_{\mathbf{BA}+'?'} \perp$ .

We should reject stability and harmony as complete *criteria* for correctness, since '?' is clearly unacceptable!

- BA is stable;
- BA+'?' is stable, so harmonious;
- $\nvdash_{\mathbf{BA}} \perp$ , but  $\vdash_{\mathbf{BA}+'?'} \perp$ .

We should reject stability and harmony as complete *criteria* for correctness, since '?' is clearly unacceptable!

- BA is stable;
- BA+'?' is stable, so harmonious;
- $\not\vdash_{\mathbf{BA}} \bot$ , but  $\vdash_{\mathbf{BA}+'?'} \bot$ .

We should reject stability and harmony as complete *criteria* for correctness, since '?' is clearly unacceptable!

Thanks for your attention!

< □ > < □ > < □ > < □ > < □ >

# Thanks for your attention!

イロト イロト イヨト イヨト

- Belnap, Tonk, plonk and plink, Analysis (22), 1962, pp. 130-134.
- Dummett, The Logical Basis of Metaphysics, 1991.
- Gentzen, Investigation into Logical Deduction, 1934/35, in ed. Szabo, The collected papers of Gerhard Gentzen, 1969.
- Horsten, The Tarskian Turn: Deflationism and Axiomatic Truth, 2011.
- Jacinto & Read, General-Elimination Stability, Studia Logica (105), 2017, pp. 361-405.
- Moriconi & Tesconi, On Inversion Principles, History and Philosophy of Logic (29), 2008, pp. 103-113.
- Peano, Le definizioni in matematica, Periodico di Matematiche (1), 1921, pp. 175-189.
- Prawitz, Review of: The logical basis of metaphysics, Mind (103), 1994, pp. 373-376.
- Prior, The runabout inference ticket, Analysis (21), 1961, pp. 38-39.
- Read, Identity and harmony, Analysis (64), 2004, pp. 111-119 (A revised version at https://www.st-andrews.ac.uk/~slr/identity\_revisited.pdf
- Read, General-elimination harmony and the meaning of the logical constants, Journal of Philosophical Logic (39), 2010, pp. 557-576.
- Shapiro, Induction and indefinite extensibility: The Godel sentence is true, but did someone change the subject, Mind (107), 1998, pp. 597-624.
- Smith, An Introduction to Godel's Theorems, 2013<sup>2nd</sup>.
- Steinberger, On the equivalence conjecture for proof-theoretic harmony, Notre Dame Journal of Formal Logic (54), 1998, pp. 79-86.